		De	taile	d cum A	bstract E	Silmaic	in ZPHS	School at N	arapally in	pocharan	[e
Name of the Work :-	Con	stru	tion	of Kitch	nen, Dimi	nng man	111 201 110	Service of Control			1
	Mui	ncip	ality							<u> </u>	-
. (48.237)	_	No	-	L	В	D	Qty	Rate	Per	Amount	-
No Item Description BLD-CSTN-3-14-(31) - A	- V4	Auren a	y ar	nd placin	ig of the	M-20			1		1
BLD-CSTN-3-14-(31) - A Design Mix Concrete corr	esp	ondi	ng t	0 15 456	using \	WEIGH			1		
Design Mix Concrete corr BATCHER with 20mm	size	gra	ided	machin	e crusne	cluding			1111		14
granite metal (coarse aggre- cost and conveyance of all coarse aggregate, water etc											-
h betching	me	chii	ie ii	nixing.	laying v	Circiote		MALE NO			
1toring	2170	1 211	reru	10 charg	CS CLC., C	Omprese					
1 1' and of ch	2/2	and	IIS	rabricat	ion ona	iges rei					
finished item of work (AF	220	No	402	) with r	ninimum	cement					
finished item of work (Al	floo	r)		of management							
content as per IS code (1st	1100	.,		F				15062.20	Cum	2494	1.97
Columns 1Floor	1	x	4	0.23	0.45	4.00	1.66	15063.39	Cum		
Roof Beams for 1st Floor	ì	X	2	4.50	0.23	0.35	0.72		C L N		
Roof Beams for 13c1 to						William	0.70				
	1	x	2	4.50	0.23	0.35	0.72	13798.73	Cum	1999	1.36
						2000	1.45	13246.76	Cum	56629	.90
Roof slab 1st floor	1	X	1	5.70	6.00	0.13	0.43	15280.40	Cum	6601	.13
Lintel 1st floor	1	X	2	1.20	1.20	0.15	0.43	12252.74	Cum	1367	41
	1	X	12	1.50	0.60	0.06		1220			
	ovio	ling	High	h Yield	Strength	deal (MS)			138		
2 BLD-CSTN-4-1-(34): Pr HYSD)/ Thermo Mechan	nica	lly 7	reat	ed (TM1	) / Mila s	different				1	
								1	1		
diameters for RCC V	VOIK	5,	Here	amirod.	sizes ar	d shapes			1		1
straightening, cutting, b	ena	ing	10 1	- Conne	oved ma	terials and	d				1
placing in position with	cove	er bi	ocks	binding	wire of	18 SWC	3.		V		1
size and tying and lap-s	plic	ng	with	dinuing	r annrov	ed design	is				
size and tying and lap-s forming grills for reinfor	cen	ent	WO	rk as po	nce of	steel bar	s.				
forming grills for reinfor and drawings, including	CO	st a	ind	conveya	there oh	airs spac	er			1	
and drawings, including including all wastages suc	:h a	S OV	erla	ps, coup	ings, ch	uira cov	er				
bars including cost and	CO	nve	yanc	e of bi	inding v	viic, cov	ac		100		
bars including cost and blocks and all incidental	. 0	pera	tion	al, labor	ur charg	es such	as				
blocks and all incidental cutting, bending, placing	in	DOS	tion	, tying	includin	g sales a	naj	1000	111111111111111111111111111111111111111	A	
cutting, bending, placing	alc	etc	cor	nolete f	or finish	ned item	ot	1			
II metari	Nia	126		A RECUE			4				
other taxes on all materi	INO.	120						10			
other taxes on all materi work in all floors. (APSS	illiones		1000	45 SPOR	-CEnat	ines	The second	.48			
other taxes on all materia work in all floors. (APSS	1		80	ke xOtv	OILOUT	****		50	The second second		
other taxes on all materia work in all floors. (APSS	F		80	kg xQty	of Foot	ings	111	AND DESCRIPTION OF THE PERSON NAMED IN		THE REAL PROPERTY.	
other taxes on all materi work in all floors. (APSS Columns Plinth Beams	I		80	kg xQty	of Foot	ings	115	5.92			
other taxes on all materia work in all floors. (APSS	F		80	kg xQty	of Foot	ings ings	115	AND DESCRIPTION OF THE PERSON NAMED IN			
other taxes on all materi work in all floors. (APSS Columns Plinth Beams			80	kg xQty kg xQty	of Foot	ings ings ings	115 384	5.92 1.75	5.95	1Kg	68879.

3 BLD-CSTN-5-4-(4 moulded or tredition Prop including Co	onal size 2	3x1	Ix7	Cm in Ce fall Mater	rials like	Cement,				
Sand, Bricks, Water all materials, inclu- Mortor, scaffoding complete for finisher	ding all la	abou lift (	r er char	ges, cur	ing char	Come				
Company Company	1	x	2	7.40	0.23	2.70	9.19			
Super Structure	1	x	2	4.30	0.23	2.70	5.34			
To Her Walle	1	X	1	2.00	0.10	2.70	0.54			
Toilet Walls	1	X	1	1.20	0.10	2.70	0.32			
Parapet walls	1	X	2	8.60	0.23	0.75	2.97			
rarapet wans	1	x	2	5.80	0.23	0.75	2.00			
	1	х	2	5.80	0.23	0.75	2.00			
	1	х	2	5.80	0.23	0.75	2.00			
		A	-	2199	0.20		24.37	9218.69	I Cum	224617.07
labour charges fo	charges, a	mor	tar,	finishing	, scanoi	ding, iii				
labour charges fo charges, curing, in etc., complete for walls. (Internal wa	r mixing netuding c finished	mor	g gr of	work of t	ere ever	necessary irfaces of	44.40			
charges, curing, in	r mixing netuding c finished	mor	g gr of	work of u	ere ever	arfaces of	44.40			
charges, curing, it etc., complete for walls. (Internal wa	r mixing netuding c finished	mor uttin item	g gr of	7.40 4.30	ere ever	necessary irfaces of	25.80			
charges, curing, ir etc., complete for walls. (Internal wa Inside walls	r mixing neluding c finished i	mor uttin item	g gr of 2 2	7.40 4.30 7.40	ere ever	3.00 3.00	25.80 31.08			
charges, curing , ir etc., complete for walls. (Internal walls edo-	r mixing neluding c finished i	mor uttin item	g gr of 2 2 1 2	7.40 4.30 7.40 2.00	ere ever	3.00 3.00 2.70	25.80 31.08 10.80			
charges, curing , ir etc., complete for walls. (Internal walls and walls are walls and walls and walls are walls and walls and walls are walls are walls are walls are walls are walls are walls and walls are	r mixing netuding c finished its)	mor uttin item	g gr of 2 2 1 2	7.40 4.30 7.40 2.00	ere ever	3.00 3.00	25.80 31.08			
charges, curing , ir etc., complete for walls. (Internal walls -do-Ceiling Toilet Walls	r mixing netuding c finished its)	mor uttin item	g gy of 2 2 1 2 2	7.40 4.30 7.40 2.00 1.00	ere ever	3.00 3.00 3.00 2.70 2.70	25.80 31.08 10.80 5.40			
charges, curing, ir etc., complete for walls. (Internal walls decided and complete for walls decided and complete wall decided and	r mixing netuding c finished in the finished i	more utting tem	2 2 2 2 2 2 2	7.40 4.30 7.40 2.00 1.00	ere ever	3.00 3.00 3.00 2.70 2.70	25.80 31.08 10.80 5.40			
charges, curing, it etc., complete for walls. (Internal walls -do-Ceiling Toilet Walls  Deductions  Door	r mixing netuding c finished in the finished i	more more than the more than t	2 2 2 2 4	7.40 4.30 7.40 2.00 1.00 0.90 0.75	4.20	3.00 3.00 2.70 2.70 2.10	25.80 31.08 10.80 5.40 -3.78 -6.30 107.40	631.27	l Sqm	67798.40
charges, curing, ir etc., complete for walls. (Internal walls -do-Ceiling Toilet Walls  Deductions Door	r mixing neluding continuity of finished in the continuity of the	mortuttining C.M. ara is like lile or	2 2 2 2 4 4 2 20i 4. ((spoir e ce c	7.40 4.30 7.40 2.00 1.00 0.90 0.75 mm thick 1:6) and age finish ement, Sa ational, finishing rooves who work of the control of	4.20  in two top coating including, seafformere ever	3.00 3.00 2.70 2.70 2.10 2.10 coats with t of 4mm ading coster, etc., tog charges olding, lift necessar, surfaces of	25.80 31.08 10.80 5.40 -3.78 -6.30 107.40	631.27	I Sqm	67798.40
charges, curing, in etc., complete for walls. (Internal walls -do-Ceiling Toilet Walls  Deductions Door  BLD-CSTN-8-9-(84 base coat of 16mm thick in C.M. (1:3) & conveyance of all site, seigniorage clabour charges, curing, incetc., complete for f walls. (External walls.)	r mixing neluding continuity of finished in the continuity of the	mortutting x x x x x x x x x x x x x x x x x x x	g grof  2 2 1 2 2 4 20i M. ((sporter tar, grof))	7.40 4.30 7.40 2.00 1.00 0.90 0.75 mm thick 1:6) and age finish ement, Sa ational, inishing ooves who work of the control of t	4.20  in two top coating including, seafformere ever	3.00 3.00 2.70 2.70 2.10 2.10 2.10 coats with t of 4mmuding coser, etc., tog charges of the coats are contact of the coats are	25.80 31.08 10.80 5.40 -3.78 -6.30 107.40		I Sqm	67798.40
charges, curing, in etc., complete for walls. (Internal walls —do- Ceiling —Toilet Walls —  Deductions — Door ——  BLD-CSTN-8-9-(84 base coat of 16mm thick in C.M. (1:3) & conveyance of all site, seigniorage coat labour charges, curing, incetc., complete for f walls. (External walls — External Walls ———————————————————————————————————	r mixing neluding continuity of finished in the continuity of the	mortuttinitem    X   X   X   X   X   X   X   X   X	g grof  22 21 22 4  20ii M. ((sspoile ce per tar. g grof)	7.40 4.30 7.40 2.00 1.00 0.90 0.75  mm thick 1:6) and age finish and age finish and age finish are at a cover when work of the cover with the	4.20  in two top coating including, seafformere ever	3.00 3.00 2.70 2.70 2.10 2.10 2.10 coats with t of 4mm ading coser, etc., tog charges of the coats with necessar surfaces of the coats with t	25.80 31.08 10.80 5.40 -3.78 -6.30 107.40 61 62.16 36.12		Sqm	67798.40
charges, curing, in etc., complete for walls. (Internal walls —do-Ceiling —Toilet Walls —Deductions —Door —————————————————————————————————	r mixing neluding continuity of finished in the continuity of the	mortutting x x x x x x x x x x x x x x x x x x x	200 d 2 2 2 4 4 2 2 1 2 2 2 4 4 2 2 2 1 2 2 2 2	7.40 4.30 7.40 2.00 1.00 0.90 0.75  mm thick 1:6) and age finish ment, Sa ational, if finishing rooves who work of the second of	4.20  in two top coating including, seafformere ever	3.00 3.00 2.70 2.70 2.10 2.10 2.10 coats with t of 4mmuding coser, etc., tog charges of the coats are contact of the coats are	25.80 31.08 10.80 5.40 -3.78 -6.30 107.40		1 Sqm	67798.40



-	Parapet walls	1	X	10000	8.60		0.75	12.90 8.70			
		1	X	2	5.80		0.73	140.64	661.21	1 Sam	92992.57
				Ļ	LOTED N	PETA I	BOXES			Sqm	
6	Supply of HOT DIP	G	AL\	VAN	IIZED M	EIAL	BUALS				
	(MODULAR) (ELEC-1.3	.1)						3.00	224.00	Each	672.00
	12 Module Boxes	1	X	3				3.00	185.00	Each	555.00
	8 Module Boxes	1	X	2				2,00	143.00	Each	286.00
_	6 Module Boxes	1	X	3				3.00	104.00	Each	312.00
	4 Module Boxes Supply of Module	Co	ver		rame .N	lakes	:Legrand				
	Supply of Module Arteor/Schneider Zen ce	lo/l-	lone	vwe	Il Blenge	Plue	/Crabtree			13500	
K	Amare/Logus Plationa/ (	iold	M	edal	GIFA/G	M- Zer	nova/L&T			Marie Town	131
	ENGLAZE	-									
-	2 Module Boxes	1	X	3			0 11	3.00	229.00	Each	687.00
	Module Boxes	1	X	3				3.00	185.00	Each	555.00
<b>3</b> 8		1	X	2				2.00	143.00	Each	286.00
-	Module Boxes	1	100000	No.		-		3.00	97.00	Each	291.00
	4 Module Boxes Wiring with 2 runs of 2	1	1272	3			10000	4.44	A	100000	
	existing pipe with 6A sw sheet covering to switch etc., complete for light,	con	trol	box	including	all labo	ur charges				
	Residential Buildings		. 1	x 2	01	1	100	20.00	693.74	Each	13874.80
9	Supply and run of 1 insulated flexible continuity including all	pper	cal	ole	in existin	g pipe	101 Cartin				
		T	1	x	4 100.00			400.00	33.48	Rmt	13392.00
10	Supply and run of 2 insulated flexible cop- including all labour char	per	cab	le i	in existing	q.mm) g pipe	for mains				V6204 60
			1	x I	7 100.00			700.00	93.42	Each	65394.00
1	Supply and run of 2 insulated flexible copp inleuding all labour char	er	cab	le i	n existing	j.mm) g pipe	F.R P.V.C for main	S			
	inleuding all labour char	ges	real life	x	50.00			50.00	129.89	l Rmt	6494.50
2	Supply and transporta 1200mm length LED aluminum anodised bor connection, with PF20. with inbuilt driver and	dy, 9. S	wid urge	e of	operating votection: > over CCT er IS speci	oltage, 2KV, 30001	double sid THD<10% K-6500K a	ie 6, ns			
	desired by the department CRI≥80, etc.complete	with	ort	yea	ars warra Arrt/Car	Daru Mas	myap Lil	U			
	desired by the departme	with	ort	yea	ars warra Arrt/Car	Techno	myap Lil	8.00	570.0	) Eacl	4560.0

	Supply of 12" (300mm), 900 RPM Heavy duty exhaust fans with metallic blades. Makes: Crompton/Almonard/Havelis Turbo Force SP (ELEC-5.1.11)				
30	1110121	2.00	3121.00	Each	6242.00
	1   x   2     Supply of CFL holder of makes Phillips/Crompton/Bajaj/Surya.		TO THE STATE OF		
14	Supply of CFL holder of makes I min-p-				
		5.00	26.00	Each	130.00
		5.00	20.00	A.J. S. C.	
	Supply and fixing of 6A 3 pin wall plug socket with 6A switch control on a common switch board with earth continuity including wire leads, earth connections along with all labour charges etc., complete.				1211.04
-	1 x 8	8.00	151.38	Each	1211.04
i	supply and fixing of 16A 3pin/6A 3pin plug socket with indicator lamp and 16Amps fuse unit and 16 Amps switch control (5 in one) on decolam sheet covered board including earth connection and all labour charges etc., complete on wall.	500			
		8.00	151.38	Each	1211.04
	Supply, Transportation of energy efficient fan, 1200 mm sweep.	0.00	191.59	(2000 E)	
	insulation: B, 3 no's blades, 30 cm long down rod, 2 no's canopies, shackle kit, safety rope, copper winding. Power Factor greater than 0.90, Service Value (CMMAV) greater than 8.5, Air greater than 0.90, Service Value (CMMAV) are as per 15:374		-		
	delivery minimum 235 CMM, 350 RPM( tolerance as per IS:374 2019), THD less than 10%, with remote or (ELEC-5.1.1)		2025.00	Fach	16950 00
	delivery minimum 235 CMM, 350 RPM (loterance as particular), THD less than 10%, with remote or (ELEC-5.1.1)	6.00	2825.00	Each	16950.00
16	delivery minimum 235 CMM, 350 RFW (loterated as partial 2019), THD less than 10%, with remote or (ELEC-5.1.1)				
	delivery minimum 235 CMM, 350 RFW (tolerance as partial 2019). THD less than 10%, with remote or (ELEC-5.1.1)    1   x   6	3000.00		Each	
	delivery minimum 235 CMM, 350 RFW (tolerance as partial 2019). THD less than 10%, with remote or (ELEC-5.1.1)    1   x   6				
	delivery minimum 235 CMM, 350 RFM (totelated as particularly 2019), THD less than 10%, with remote or (ELEC-5.1.1)    1   x   6     Providing & Placing on Terrace (at all floor levels) polyethylene water storage tank with Double layer approved brand & manufacture with 16 cover and suitable locking arrangement & making necessary holes for inlet & outlets and over flow pipes but without fittings & base support for    X   2   1500.00     Supply & Delivery of 110 mm dia 3 M Single Socket PVC/SWR				27270.00
	delivery minimum 235 CMM, 350 RFW (toterated as particularly 2019), THD less than 10%, with remote or (ELEC-5.1.1)  Providing & Placing on Terrace (at all floor levels) polyethylene water storage tank with Double layer approved brand & manufacture with 16 cover and suitable locking arrangement & making necessary holes for inlet & outlets and over flow pipes but without fittings & base support for  1 X 2 1500.00  Supply & Delivery of 110 mm dia 3 M Single Socket PVC/SWR pipe - 6 Kg/sq.cm	3000.00	9.09	1Ltr	27270.00
	delivery minimum 235 CMM, 350 RFW (toterance as partial 2019). THD less than 10%, with remote or (ELEC-5.1.1)    1   x   6	3000.00		1Ltr	27270.00
	delivery minimum 235 CMM, 350 RFW (toterance as particular 2019), THD less than 10%, with remote or (ELEC-5.1.1)    1   x   6	3000.00	9.09	7 Eac	27270.00 h 12284.04
17	delivery minimum 235 CMM, 350 RFW (toterance as parallel 2019), THD less than 10%, with remote or (ELEC-5.1.1)  Providing & Placing on Terrace (at all floor levels) polyethylene water storage tank with Double layer approved brand & manufacture with 16 cover and suitable locking arrangement & making necessary holes for inlet & outlets and over flow pipes but without fittings & base support for  1 X 2 1500.00  Supply & Delivery of 110 mm dia 3 M Single Socket PVC/SWR pipe - 6 Kg/sq.cm  1 x 12  Supply & Delivery of 110 mm dia 3 M 6Kg/sq.cm Double Socket 18 PVC/SWR pipe	3000.00	9,09	7 Eac	27270.00 h 12284.04
17	delivery minimum 235 CMM, 350 RFM (toterated as particular 2019), THD less than 10%, with remote or (ELEC-5.1.1)    1   x   6	3000.00	9,09	7 Eac	27270.00 h 12284.04
17	delivery minimum 235 CMM, 350 RFW (toterated as particular 2019), THD less than 10%, with remote or (ELEC-5.1.1)    1   x   6	3000.00	9,09	7 Eac	27270.00 h 12284.04 ch 13565.64
17	delivery minimum 235 CMM, 350 RFW (toterated as particular 2019), THD less than 10%, with remote or (ELEC-5.1.1)    1   x   6	12.00	9.09	7 Eac	27270.00 h 12284.04 ch 13565.64
17	delivery minimum 235 CMM, 350 RFW (toterance department 2019), THD less than 10%, with remote or (ELEC-5.1.1)    1   x   6	12.00 12.00	9.09	7 Eac	27270.00 h 12284.04 ch 13565.64
17	delivery minimum 235 CMM, 350 RFW (toterated as particular 2019), THD less than 10%, with remote or (ELEC-5.1.1)    1   x   6	12.00 12.00	9.09 1023.6 1130.4	7 Eac	27270.00 h 12284.04 ch 13565.64 ch 1045.30

21	Supply & Delivery of 110 mm dia - 45 Degree Bend - UPVC/SWR Pipe fittings		07.40	Each	3	49.92
		4.00	87.48	Each	1 3	17.72
22	1 x 4 Supply & Delivery of 110 mm dia - Single Tee - UPVC/SWR					
	Pipe	3.00	135.20	Each		405.60
-		3.00	12000			
23	Supply & Delivery of 110 x 75 mm dia - Reducer - UPVC/SWR					
	Pipe fittings	4.00	71.50	Eac	6	214.74
	1 V 3	3.00	71.58	Eac	11	201111
	75 mm dia 3 M Kg/sq.cm Single Socket PVC/SWR pipe - 4		Promise			1
4	75 mm dia 5 ivi kg sq. m = C	0.00	315.85	Eac	h	2526.80
-	1 X 8	8.00	313.03	Louis		
-	75 mm dia 3 M Kg/sq.cm Double Socket PVC/SWR pipe - 4					
5		8.00	356.75	Eac	ch	2854.00
	1 X 8					
6	Supply & Delivery of 75 mm dia - Double Tee with Door -		1		- 1	
	UPVC/SWR Pipe fittings					000.73
	1 X 4	4.00	247.68	Ea	ch	990.72
	Supply & Delivery of 75 mm dia Plain Bend 87,5 Degree		This st			-97-11
7	Supply & Delivery of 75 mm that Flatt Bend 676 25		1			
	UPVC/SWR Pipe	- 00	62.49	Eac	h	312.45
	1 X 5	5.00	02.49	Lin		
20	Supply & Delivery of 75 mm dia Door Bend 87.5 Degree			1		- 1/4
28	UPVC/SWR Pipe fittings			1		
		3.00	84.08	Eac	h	252.24
	1 X 3					
2	9 Supply & Delivery of 75 mm dia - 45 Degree Bend -				1	
1-	UPVC/SWR Pipe fittings	0.00	48.85	Eacl	2	390.80
	77 0	8.00	46.03	Luci		
	Delivery of 75 mm dia - Single Tee - UPVC/SWR		1	1	-1	1
3		- 00	73.85	Eac	h	369.25
	Pipe 1 x 5	5.00	13.03	La	1	
	1 x 5  1 Supply & Delivery of 4" (101.6 mm) Nahany Trap (Without Jal	1	-	1	1	-
3	Supply & Delivery of 4 (10 Strings		A CALL	1	-	200.25
	with inlet)UPVC/SWR Pipe fittings	5.00	73.85	E	ach	369.25
	1 x 5	C			8	V
22	Labour charges for laying, fixing and commissioning the PV		13/1 - 1			1
32	Labour charges for laying, fixing and commissioned pipes including couplers/ bends/ tees etc. any diameter including pipes including couplers, bends, plugs, couplers, junction	5	1	1		1
		3,		100		
	fixing necessary fittings like defined practice tees, etc. with solvent jointing as per standard practice					
	tees, etc. with solvent joining in F					
		20.0	0 99.9	8	Each	1999.60
	1 x 1 20					
	1 x 1 20  S&F of 15 mm CP finish brass body wall mixer with ha	na		- 54		1
33	S&F of 15 mm CF mms 150 mm conforming to 1S 8931				en all	3181.22
	S&F of 15 mm CP finish brass body had shower with center distance 150 mm conforming to IS 8931	1.0	0 3181	.22	Each	3101.65
		ock				
-	1 x 1 4 S&F of Chromium plated finish brass body quarter turn Biboo	10				
3	S&F of Chromium plated finish brass body qual- cum 34 Health Faucet with Im long tube and wall hook with	***	= 70 1 70			The same
	years warranty		00 3710		Each	3710.6
			0 3710	A CANCELL ST.	PROBLE	The second secon

	tit was award planted		700		
35	Providing and fixing 30mm thick WPC (Wood Plastic Composition) Door Shutters as per manufacture specification fitted with Hinges, 2 Nos of 250 mm long MS Aldrop, 2 Nos of 125 mm lond Aluminium 35 door handle, 1 No. of 250 mm long Aluminium tower bolt, 1 no. 250 mm long Aluminium door latch & 1 No.baby lock including cost and conveyance of all material, all fixtures and all labour charges etc, for fixing etc,				
	complete. (Adopted from approved rates)				
	complete. (Adopted from Approve	1.89	7150.00	Sqm	13513.50
	Supply, Installation and commissioning approved make floor mounted Close Coupled wash down EWC conforming to IS:2556 (Part 8)-2004 with 'P' or 'S' trap with dual flush porcelain cistern fixed on wash down 36 EWC with all internal parts of dual flush cistern, ultra-solid seat cover of approved make with rubber buffer and cap & 15 mm angle stop cock & 450 mm long PVC inter connection pipe wall flanges all of approved make etc. complete for finished item of work in all				
	respects: Special	6.00	18195.44	Each	109172.64
37	Supply & Fixing of approved coloured glazed flat back Bowl Urinals of size min size 365x335x670mm conforming to 18:2556-1995 incl., cost of its fixing etc., complete for finished item of work as directed by the CERA S4020107 calcia or equivalent model Engineer-in-charge (Approved rate adopted)				
	1 x 2	2.00	10395.77	Each	20791.54
3	8 Providing & Fixing Ceramic Urinal partition of size 720x320x90mm of approved colour fixed with expandble anchor fasteners with CP brass 38 bolts and washers, embedded in wall fasteners with CP brass 38 bolts and washers, embedded in wall				
	fasteners with CP brass 38 bolts and washers, with anchor and set in cement concrete complete incl., cutting and making good the walls wherever required				
	with anchor and set in cement concrete complete ment and making good the walls wherever required	3.00	2669.95	Each	8009.85
39	with anchor and set in cement concrete complete many and making good the walls wherever required  1 x 3  Supply & Fixing of approved colour Grade-I/Grade-II glazed Wash Hand Basın with full pedestal of size 630x450mm conforming to 1S:2556 (Part4)-1972 1st quality with waste fittings like rubber plug. chain, 32mm nominal size C.P fittings with parallel pipe thread conforming to 1S:2963-1979 and fitted with parallel pipe thread conforming to 1S:2963-1979 and fitted with 15mm nominal bore chromium plated Pillar Tap of 1st quality Indian make 400grams Seiko/Senior/Nice/Esso or equivalent complete with standard CI brackets incl., wooden equivalent complete with standard CI brackets incl., wooden				
39	with anchor and set in cement concrete complete many and making good the walls wherever required  1 x 3  Supply & Fixing of approved colour Grade-I/Grade-II glazed Wash Hand Basın with full pedestal of size 630x450mm conforming to 1S:2556 (Part4)-1972 1st quality with waste fittings like rubber plug. chain, 32mm nominal size C.P fittings with parallel pipe thread conforming to 1S:2963-1979 and fitted with parallel pipe thread conforming to 1S:2963-1979 and fitted with 15mm nominal bore chromium plated Pillar Tap of 1st quality Indian make 400grams Seiko/Senior/Nice/Esso or quality Indian make 400grams Seiko/Senior/Nice/Esso or				
39	with anchor and set in cement concrete complete many and making good the walls wherever required  1 x 3  Supply & Fixing of approved colour Grade-I/Grade-II glazed Wash Hand Basın with full pedestal of size 630x450mm conforming to IS:2556 (Part4)-1972 1st quality with waste fittings like rubber plug. chain, 32mm nominal size C.P fittings with parallel pipe thread conforming to IS:2963-1979 and fitted with parallel pipe thread conforming to IS:2963-1979 and fitted with 15mm nominal bore chromium plated Pillar Tap of 1st quality Indian make 400grams Seiko/Senior/Nice/Esso or equivalent complete with standard CI brackets incl., wooden block with single CP pillar cock incl., its fixing etc., complete CERA make CONCORD Wash Basin or equivalent	1,00			
39	with anchor and set in cement concrete complete many and making good the walls wherever required  1 x 3  Supply & Fixing of approved colour Grade-I/Grade-II glazed Wash Hand Basın with full pedestal of size 630x450mm conforming to 1S:2556 (Part4)-1972 1st quality with waste fittings like rubber plug. chain, 32mm nominal size C.P fittings with parallel pipe thread conforming to 1S:2963-1979 and fitted with parallel pipe thread conforming to 1S:2963-1979 and fitted with 15mm nominal bore chromium plated Pillar Tap of 1st quality Indian make 400grams Seiko/Senior/Nice/Esso or equivalent complete with standard CI brackets incl., wooden block with single CP pillar cock incl., its fixing etc., complete CERA make CONCORD Wash Basin or equivalent	1,00	5720.5	52 Eac	ch 5720.5

5	Supplying and fixing TV s	shape mirror w	ith plastic tr	ame size	10			1		
	609.6 mm x457.2mm (TBSI	P-J.1-35)				THE PERSON NAMED IN		. 1	593.07	-
	00930 Hitt 3 (C. 18)	1 X 1			1.00	593.07	Ea	en	393.01	
Ħ		TRSP.F V	1121)				C D	ich	655.56	5
	S&F CP finish brass soap di	1 X 1			1.00	655.5	6 Ex	icii	- ODDA	
		0.11 %	de Ceramic	floor tiles						
П	Flooring with Non-skid red of size 300 x 450 mm	and 6mm	thickness 1	st quality	0.0		1			
	of size 300 x 450 mm conforming to IS:13711, IS	:-13712 IS:13	630 (Parts 1	to 15) of						
	conforming to 18:13/11, 15	chades and de	sign, set over	base coat						
	conforming to IS:13711, IS any colour and finish in all	om thick over	CC bed alre	ady laid or						
1	any colour and finish in all of cement mortar (1:8), 12 i	ment cement	slurry of l	noney like		1	1			
	RCC roof slab, including	near come	& jointed r	neatly with		1				
J	consistency spread @ 3.3. white cement paste to f	kgs per squi	wad with r	sigment of		1			4	11/2
	white cement paste to I	ull depth in	into like of	ment sand		1				
	white cement paste to it matching shade, including	cost of all mar	teriais like co	as abarges						
	matching shade, including water and tiles etc., com	plete, includir	ng seigniora	ge charges,		1 70	- 310		1	
	land for tinished	Helli or work		he cost and		1				
	conveyance of all material	s for 1st Floo	r	1		3	1976			
	conveyance of all material									
		1 X 1	7.4 4.3	3	31.82	-				
ı	Flooring	1 x 1	1.8	2.1	3.78	4	-	-		
f	Toilet Walls	The second secon	0.9	2.1	1.89			-		
ī		1 x 1	1.2	2.1	10.08					
i			3.55	1.2	8.52			-		
F	Walls Cladding		4.32	1.2	10.37				-	
-		1 x 2	3.5	1.2	8.40					
H		1 x 2	4.32	1.2	10.37					
V)		1 x 2 1 x 2	3.5	1.2	8.40			THE L		
T		1 x 2	3.5	1.2	8.40					
			3.5	1.2	8.40	1				_
		1 x 2 1 x 2	3.5	1.2	8.40	1				
		1 x 2	3.5	1.2	7.20					-
		1 x 2	3	1.2	-8.8					-
Ŧ		-	1.05	2.1	-3.1					
Ħ	Deductions		0.75	2.1	122	ASSESSMENT VALUE OF	1053.80	So	m   13	29044.13
		1 /4				-40				
H		1 diam	mnervious (	coat to expos	ed	- 20		1	1	
77	BLD-CSTN-10-25-(148 RCC roof slab surface	); Providing	20mm thi	ck with 1kg	of	1		1	1	
4	RCC roof slab surface water proof compound	with CM(1:3	), 20mm th	er roof whe	n it	1		1	1	
	RCC root state sund	ner bag of ce	ment laid of	ei loor char	res.	4		1	1	
	water proof compound is green including cos	t of all mat	erials, seign	norage char	611			1/2	1	
	I modeling www	A CONTRACTOR OF THE CONTRACTOR	7 1 m 0 11	a menunis	SCHOOL ST					\
	Latino conveyance	A111110	The second secon	COLVED HILL	I Trees -			1		
	I Incidental	SERVICE AND ADDRESS OF THE PERSON NAMED IN	The Control of the Local Division in Control Division in Co	or rollnulli	2.012-1		1	- 1		V
	operational, includes	th and thread	lining, curi	or taked iter	n of		1	1 3		
	operational, incidental laying, rendering smoo junctions of wall and	clab etc. co	mplete for	finished itel			- 10		1000	
	junctions of wall and	Sido Civil	22.7			77	1	22	Sqm	53914.
	work			5.34		86.51	623	23	- Confess	
			16.2				-			

	Add LS for U/F items			11/4	1	1497.29
	Add Scrutiny Charges @ 3%	370		100		
	Add TPQC @ 1%	3%			1	35708.74
	Add Leess @ 1%	1%				11902.91
		102				
	Add Seigniorage Charges					28000.00
	Add GST @ 18%	0.10%				1190.29
	ALICET @ 199/	18%				1190291.19
	Qty of Plastering		248.04	174.85	Sqm	43369.79
\	D-CSTN-12-4-(171): Painting Walls we equal and approved Water Proof Ceme Coat, 2 Coats (All Colours) to give thourughly brushing the surface to remove loose powdered materials, including cost materials to work site and all operation charges etc. complete for finished item or	an even shade after re all dirt and remains of t and conveyance of all onal, incidental, labour			*	
47	D CSTN 12 4 (171), Pair C NV II	6 4	24.00	844.35	Sqm	20264.40
16	concrete, ramming in 15 cm layers, finis required level curing etc., complete for with nomonal reinforcement  1 x 1  BLD-CSTN-9-1-(99): Flooring with Policlass 15 to 18 mm thick (Tandur Stone's of CM (1:8) over already laid CC bed/RC neat cement slurry of honey like consist per sqm. & Jointed with neat cement to f of all materials like cement, sand, and we etc., complete, including seigniorage characteristics of flooring stones etc., complete work, including the cost and conveyance of the control of the stone of the sto	thing top surface to the finished item of work  6 4 0.1 shed Shabad stones 1st labs) set over base coat C Roof Slab, including ency spread @ 3.3 kgs will depth including cost ater and flooring stones rges, labour charges for te for finished item of	2.40	6344.13	Sqm	15225.91
	Using Concrete mixture up to Plinth concrete nominal mix M15 (1:2.5:5) aggregates including cost and conveyancement, sand, coarse aggregate water excharges on all materials, labour charges concrete ramping in 15	using coarse and fine ce of all materials like ic., to site, seigniorage				

Asst. Engineer Pocharam Municipality Dy. Exec. Engineer PH, R.R Divi.